Chemistry 40S

Electrons Configurations
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Problem-Solving Strategy
Filling Atomic Orbitals
By drawing a sublevel diagram and following the arrows,

you can write the ground-state electron configuration for
any chemical element.

1. Sketch the sublevel diagram on a blank piece of paper.

2. Determine the number of electrons in one atom of the element
for which you are writing the electron configuration. The
number of electrons in a neutral atom equals the element's
atomic number.

Starting with Ts, write the aufbau sequence of atomic orbitals
by following the diagonal arrows from the top of the sublevel
diagram to the bottom. When you complete one line of arrows,
move to the right, to the beginning of the next line of arrows.
As you proceed, add superscripts indicating the numbers of h
electrons in each set of atomic orbitals. Continue only until you

have sufficient atomic orbitals to accommodate the total number

of electrons in one atom of the element.

4. Apply noble-gas notation. t

Apply the Strategy The sublevel diagram shows the order
Write the ground-state electron configuration for zirconium, Which the orbitals are usually filed.





